x Assembly Guide Axelent X-It Escape
XIT-L/R14-301 1 e
X-Guard Sliding door

AXELEINT ettt sttt esanes .

— A - '/l
\ AN
XIT-L/R14-000 ) @? @ @? xi7-002-301 SIS & @)
N — | —V M3

M5x20  M5x20  M8x35 M3x14
x1 x4 x1 x1 x1

0 —)

..............................................................................................................................................................

.............................................................................................................................................................

XIT-000-401 x1




Assembly Guide Axelent X-It Escape | X-Guard siing door

............................................................................................................

é ,:
—_— / 0
| B
I =P

\ &
- -
— L 2|l

Rii:

XIT-L/R02-401

XIT-L/RO2-301 —__




